0.2 ~ 0.2F
A I
D L
--------------------------------- 50.15_—--------
[5) L
.......................... ° Feeennn
0. 2=-------Afi1yv v 01

<d @> (rad)
o
=
a1

< 00, > (M)

<opyp, > ()

o
T
o

T

0.95 : : : 0.95 '
—1 2 3 -1
10 1 '|'F>lp(?r (PCA t%obeamlinélf) 10 1

—=— DQM_V0001_R000000001__Global_mKkFit10000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000ATime_ RECO

100r T T T = 100

E + g_ [
S T 1 A S H ~ 8OF-- 17| RO N I
[510] oEEREER J £ B EEEREEERECRECEREE] RECEESE (RECERECEE =} C
C + =l S e
40 E \Y 60:
20F 40k }-
0 20+
-20 r
r o------

60+ | SRS 20 -
-80 R I —40F------ .

Ratio

.95 : 0. :
1 -1 2 3
10 ! 10 ! TPlp?T (PCA tjbobeamliné'f)

....................

10 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


